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Appendix — Illustrative examples

Example 1: Use of a provision matrix

IFRS 9 includes the following example of how to estimate ECL when the trade
receivables exception applies:

A non-financial institution holds trade receivables that do not have a significant
financing component. In order to determine the amount of ECL to be recognised in the
financial statements, it has set up a provision matrix based on its historical observed
default rates which is adjusted for forward-looking estimates and establishes that ECL
should be calculated as:

e non-past due: 0.3% of carrying value

e 30 days past due: 1.6% of carrying value

e 31-60 days past due: 3.6% of carrying value
e 61-90 days past due: 6.6% of carrying value

e more than 9o days past due: 10.6% of carrying value

Analysis: The standard allows for a provision matrix to be used for recognising ECL on
trade receivables. An entity needs to use its historical credit loss experience and more
forward-looking information in order to establish the loss rates.

Example 2: Assessing increases in credit risk based on
probability of default

The standard includes a number of examples of how to perform the assessment of
whether there has been a significant increase in credit risk. We have included below one
of the examples for illustration purposes.

Entity B acquires a portfolio of 1,000 five-year bullet repayment loans for CU1,000 each
(that is, CU1,000,000 in total) with an average 12-month PD of 0.5 % for the portfolio.
Entity B determines that, because the loans only have significant payment obligations
beyond the next 12 months, changes in the 12-month PD would not be appropriate to
determine whether there has been a significant increase in credit risk since initial
recognition.

At the reporting date, Entity B determines that there has not been a significant increase
in credit risk since initial recognition and estimates that the portfolio has an average loss
given default CLGD’) of 25%. Entity B determines that it is appropriate to measure the
loss allowance on a collective basis. Entity B measures the loss allowance on a collective
basis at an amount equal to 12-month ECL.

Analysis: In this case, the entity assessed that using a 12-month PD to determine

movements in credit risk was not a reasonable approximation of lifetime PD as the
instrument had significant payments that were beyond the 12 month period.
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Example 3: Assessing increases in credit risk based on
probability of default

IFRS 9 includes a number of examples of how to perform the assessment of whether
there has been a significant increase in credit risk. We have included below one of the
examples for illustration purposes.

Company H owns real estate assets which are financed by a five-year loan from Bank Z
with a PD of 0.5% over the next 12 months (the entity assessed that, for this particular
instrument, changes in the 12-month ECL are considered a reasonable approximation of
changes in lifetime ECL). The loan is secured with first-ranking security over the real
estate assets.

Subsequent to initial recognition, the revenues and operating profits of Company H have
decreased because of an economic recession. Furthermore, expected increases in
regulation have the potential to further negatively affect revenue and operating profit.
These negative effects on Company H’s operations could be significant and ongoing.

As aresult of these recent events and expected adverse economic conditions, Company
H’s free cash flow is expected to be reduced to the point that the coverage of scheduled
loan payments could be tight. Bank Z estimates that a further deterioration in cash flows
might result in Company H missing a contractual payment on the loan and becoming past
due.

As a consequence of these facts, the PD has increased by 15% to 15.5%.

At the reporting date, the loan to Company H is not considered to have low credit risk.
Bank Z therefore needs to assess whether there has been a significant increase in credit
risk since initial recognition, irrespective of the value of the collateral that it holds. It
notes that the loan is subject to considerable credit risk at the reporting date because
even a slight deterioration in cash flows could result in Company H missing a contractual
payment on the loan. As a result, Bank Z determines that the credit risk (that is, the risk
of a default occurring) has increased significantly since initial recognition. Consequently,
Bank Z recognises lifetime expected credit losses on the loan to Company H.

Although lifetime expected credit losses should be recognised, the amount of the
expected credit losses will reflect the recovery expected from the collateral on the
property value and might result in the expected credit loss being very small.

Analysis: In this case, the bank considered both PD and other information (such as
macroeconomic and client-specific information), in order to determine whether a
significant increase in credit risk occurred. An assessment based on LGD information
only would not have identified that credit risk has increased significantly for the asset.
Nevertheless, when calculating ECL the bank should factor in the expected recovery from
collateral.

Example 4: Responsiveness to changes in credit risk (individual
and portfolio assessments)

IFRS 9 includes a number of examples of how to perform the individual and portfolio
analysis. We have included below one of the examples for illustration purposes.

Bank ABC provides mortgages to finance residential real estate in three different regions.
The bank sets its acceptance criteria based on credit scores, and loans with a credit score
above the ‘acceptance level are approved, as these borrowers are considered to be able to
meet contractual payment obligations. When new mortgage loans are originated, Bank
ABC uses the credit score to determine the risk of a default occurring as at initial
recognition.
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Individual assessment

In Region One, Bank ABC assesses each of its mortgage loans on a monthly basis by
means of an automated behavioural scoring process that is based on current and
historical past due statuses, indebtedness, loan-to-value measures (‘LTV measures’),
customer behaviour on other financial instruments with Bank ABC, the loan size and the
time since the origination of the loan. Bank ABC updates LTV measures on a regular
basis through an automated process that re-estimates property values using recent sales.
Historical data indicates a strong correlation between the value of residential property
and default rates for mortgages, which is factored into the behavioural score. Bank ABC
is able to identify significant increases in credit risk since initial recognition on individual
customers before a mortgage becomes past due if there has been deterioration in the
behavioural score.

When the increase in credit risk has been significant, a loss allowance at an amount equal
to lifetime ECL is recognised; otherwise, a loss allowance at an amount equal to 12-
month ECL continues to be recognised. The loss allowance is measured using LTV
measures to estimate the severity of the loss. If Bank ABC is unable to update
behavioural scores, for example, to reflect the expected declines in property prices, it uses
reasonable and supportable information that is available without undue cost or effort to
undertake a portfolio assessment to determine the loans on which there has been a
significant increase in credit risk since initial recognition and recognise lifetime expected
credit losses for those loans.

Portfolio assessment

In Regions Two and Three, Bank ABC does not have an automated scoring capability.
Instead, for credit risk management purposes, Bank ABC tracks the risk of a default
occurring by means of past-due statuses. It recognises a loss allowance at an amount
equal to lifetime ECL for all loans that have a past-due status of more than 30 days past
due. Although Bank ABC uses past-due status information as the only borrower-specific
information, it also considers other reasonable and supportable forward-looking
information that is available without undue cost or effort to assess whether lifetime ECL
should be recognised on loans that are not more than 30 days past due. This is necessary
in order to meet the objective in paragraph 5.5.4 of IFRS 9 of recognising lifetime
expected credit losses for all significant increases in credit risk.

Region Two includes a mining community that is largely dependent on the export of coal
and related products. Bank ABC becomes aware of a significant decline in coal exports
and anticipates the closure of several coal mines. Because of the expected increase in the
unemployment rate, the risk of a default occurring on mortgage loans to borrowers in
these areas who rely on the coal mines is determined to have increased significantly, even
if those customers are not past due at the reporting date. Bank ABC segments its
mortgage portfolio, by the industry within which customers are employed, to identify
customers that rely on coal mining as the dominant source of employment (that is,
‘bottom up’ approach). For such groups of mortgages, Bank ABC recognises a loss
allowance at an amount equal to lifetime ECL while it continues to recognise a loss
allowance at an amount equal to 12-month ECL for all other mortgages in Region Two.
Newly originated loans to borrowers who rely on the coal mines in this community
would, however, have a loss allowance at an amount equal to 12-month ECL, as they
would not have experienced a significant increase in credit risk since initial recognition.

In Region Three, Bank ABC anticipates the risk of a default occurring and thus an
increase in credit risk, as a result of an expected increase in interest rates during the
expected life of the mortgages. Historically, an increase in interest rates has been a lead
indicator of future defaults on mortgages in Region Three, especially when customers do
not have a fixed interest-rate mortgage. Bank ABC determines that the variable interest-
rate portfolio of mortgages in Region Three is homogenous and that, unlike for Region
Two, it is not possible to identify particular sub-portfolios on the basis of shared risk
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characteristics that represent customers who are expected to have increased significantly
in credit risk. However, as a result of the homogenous nature of the mortgages in Region
Three, Bank ABC determines that an assessment can be made of a proportion of the
overall portfolio that has significantly increased in credit risk since initial recognition
(that is, a ‘top down’ approach can be used). Based on historical information, Bank ABC
estimates that an increase in interest rates of 200 basis points will cause a significant
increase in credit risk on 20% of the variable interest-rate portfolio. Therefore, as a result
of the anticipated increase in interest rates, Bank ABC determines that the credit risk on
20% of mortgages in Region Three has increased significantly since initial recognition.
Accordingly, Bank ABC recognises lifetime ECL on 20% of the variable rate mortgage
portfolio and a loss allowance at an amount equal to 12-month ECL for the remainder of
the portfolio.

Analysis: In this case, where the individual assessment only takes into account past due
information, the bank is required to complete an assessment of changes in credit risk at a
portfolio level using more forward looking information. To complete this assessment,
the bank has used both the ‘bottom up’ and the ‘top down’ approach based on the
information available for each portfolio. Both approaches are acceptable according to the
standard.

In addition, an entity should subdivide a portfolio if it identifies that there has been a
significant increase in credit risk that applies only to a portion of a given portfolio. This
might indicate that the risk characteristics have become different and therefore it is
necessary to subdivide the portfolio.

Example 5: Estimating expected credit losses — FVOCI

IFRS 9 includes a number of examples of how to estimate ECL. We have included below
one of the examples for illustration purposes.

An entity purchases a debt instrument with a fair value of CU1,000 on 15 December
20X0 and measures the debt instrument at fair value through other comprehensive
income. The instrument has an interest rate of 5% over the contractual term of 10 years,
and has a 5% effective interest rate. At initial recognition, the entity determines that the
asset is not a purchased or originated credit-impaired asset.

Debit Credit

Financial asset — FVOCI CU 1,000

Cash CU1,000

On 31 December 20Xo0 (the reporting date), the fair value of the debt instrument has
decreased to CUg50 as a result of changes in market interest rates. The entity determines
that there has not been a significant increase in credit risk since initial recognition and
that ECL should be measured at an amount equal to 12-month ECL, which amounts to
CUs3o0. For simplicity, journal entries for the receipt of interest revenue are not provided.

Debit Credit
Impairment expense (P&L) CuU30
Other comprehensive income Cu20
Financial asset — FVOCI CU50

The cumulative loss in other comprehensive income at the reporting date was CU20.
That amount consists of the total fair value change of CU50 (that is, CU1,000 —CU950)
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offset by the change in the accumulated impairment amount representing 12-month
expected credit losses that was recognised (CU30).

On 1 January 20X1, the entity decides to sell the debt instrument for CU950, which is its
fair value at that date.

Debit Credit
Cash CU950
Financial asset — FVOCI CU950
Loss on sale (P&L) Cu20
Other comprehensive income Cu20

Analysis: When calculating ECL on financial assets classified in the FVOCI category,
movements in the ECL provision will impact P&L. Under the model, impairment charges
in P&L will always occur earlier as compared to current IAS 39 guidance, and this is no
different for financial assets classified in the FVOCI category.

Example 6: Revolving credit facilities

IFRS 9 includes an example of how to determine ECL on revolving credit facilities. We
have included below one of the examples for illustration purposes.

Bank A provides co-branded credit cards to customers in conjunction with a local
department store. The credit cards have a one-day notice period after which Bank A has
the contractual right to cancel the credit card (both the drawn and undrawn
components). However, Bank A does not enforce its contractual right to cancel the credit
cards in the normal day-to-day management of the instruments and only cancels
facilities when it becomes aware of an increase in credit risk and starts to monitor
customers on an individual basis. Bank A therefore does not consider the contractual
right to cancel the credit cards to limit its exposure to credit losses to the contractual
notice period. For credit risk management purposes, Bank A considers that there is only
one set of contractual cash flows from customers to assess and does not distinguish
between the drawn and undrawn balances at the reporting date. The portfolio is
therefore managed and expected credit losses are measured on a facility level.

At the reporting date, the outstanding balance on the credit card portfolio is CU60,000
and the available undrawn facility is CU40,000. Bank A determines the expected life of
the portfolio by estimating the period over which it expects to be exposed to credit risk on
the facilities at the reporting date, taking into account:

a. The period over which it was exposed to credit risk on a similar portfolio of credit cards;
b. The length of time for related defaults to occur on similar financial instruments; and

c. Past events that led to credit risk management actions because of an increase in
credit risk on similar financial instruments, such as the reduction or removal of
undrawn limits.

Bank A determines that the expected life of the credit card portfolio is 30 months. At the
reporting date, Bank A assesses the change in the credit risk on the portfolio since initial
recognition and determines that the credit risk on a portion of the credit card facilities
representing 25% of the portfolio has increased significantly since initial recognition. The
outstanding balance on these credit facilities for which lifetime expected credit losses should
be recognised is CU20,000 and the available undrawn facility is CU10,000.
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When measuring the expected credit, Bank A considers its expectations about future
draw-downs over the expected life of the portfolio (that is, 30 months) and estimates
what it expects the outstanding balance (that is, exposure at default) on the portfolio
would be if customers were to default. By using its credit risk models, Bank A determines
that the exposure at default on the credit card facilities for which lifetime expected credit
losses should be recognised is CU25,000 (that is, the drawn balance of CU20,000 plus
further draw-downs of CU5,000 from the available undrawn commitment). The exposure
at default of the credit card facilities for which 12-month expected credit losses are
recognised is CU45,000 (that is, the outstanding balance of CU40,000 and an additional
draw-down of CU5,000 from the undrawn commitment over the next 12 months).

The exposure at default and expected life determined by Bank A are used to measure the
lifetime expected credit losses and 12-month expected credit losses on its credit card
portfolio. Bank A measures expected credit losses on a facility level and therefore cannot
separately identify the expected credit losses on the undrawn commitment component
from those on the loan component. It recognises expected credit losses for the undrawn
commitment together with the loss allowance for the loan component in the statement of
financial position. To the extent that the combined expected credit losses exceed the
gross carrying amount of the financial asset, the expected credit losses should be
presented as a provision.

Analysis: When estimating ECL on revolving credit facilities, expected life can be
greater than contractual life.

Example 7: Estimating expected credit losses

IFRS 9 includes a number of examples of how to estimate ECL. We have included below
one of the examples for illustration purposes.

Entity A originates a single 10-year amortising loan for CU1 million. Taking into
consideration the expectations for instruments with similar credit risk (using reasonable
and supportable information that is available without undue cost or effort), the credit
risk of the borrower, and the economic outlook for the next 12 months, Entity A
estimates that the loan at initial recognition has a PD of 0.5% over the next 12 months.
Entity A also determines that changes in the 12-month PD are a reasonable
approximation of the changes in the lifetime PD for determining whether there has been
a significant increase in credit risk since initial recognition.

At the reporting date (which is before payment on the loan is due), there has been no
change in the 12-month PD, and Entity A determines that there was no significant
increase in credit risk since initial recognition. Entity A determines that 25% of the gross
carrying amount will be lost if the loan defaults (that is, the LGD is 25%). Entity A
measures the loss allowance at an amount equal to 12-month ECL using the 12-month PD
of 0.5%. Implicit in that calculation is the 99.5% probability that there is no default. At
the reporting date, the loss allowance for the 12-month ECL is CU1,250 (0.5% x 25% x
CU1,000,000).

Entity B acquires a portfolio of 1,000 five-year bullet loans for CU1,000 each (that is, CU1
million in total) with an average 12-month PD of 0.5% for the portfolio. Entity B determines
that because the loans only have significant payment obligations beyond the next 12 months,
it would not be appropriate to consider changes in the 12-month PD when determining
whether there have been significant increases in credit risk since initial recognition. At the
reporting date, Entity B therefore uses changes in the lifetime PD to determine whether the
credit risk of the portfolio has increased significantly since initial recognition.

Entity B determines that there has not been a significant increase in credit risk since
initial recognition and estimates that the portfolio has an average LGD of 25%. Entity B
determines that it is appropriate to measure the loss allowance on a collective basis in
accordance with IFRS 9. The 12-month PD remains at 0.5% at the reporting date. Entity
B therefore measures the loss allowance on a collective basis at an amount equal to 12-
month expected credit losses based on the average 12-month PD of 0.5%. Implicit in the
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calculation is the 99.5% probability that there is no default. At the reporting date, the loss
allowance for the 12-month expected credit losses is CU1,250 (0.5% x 25% x
CU1,000,000).

Analysis: This example illustrates that the information used and the process for
calculating the ECL allowance should vary depending on the nature and circumstances of
each instrument.

Example 8: Modified financial instruments

IFRS 9 includes an example of how to estimate ECL for modified financial assets. We
have included below one of the examples for illustration purposes.

Bank A originates a five-year loan that requires the repayment of the outstanding
contractual amount in full at maturity. Its contractual par amount is CU1,000 with an
interest rate of 5% payable annually. The effective interest rate is 5%. At the end of the
first reporting period (Period 1), Bank A recognises a loss allowance at an amount equal to
12-month expected credit losses because there has not been a significant increase in credit
risk since initial recognition. A loss allowance balance of CU20 is recognised.

In the subsequent reporting period (Period 2), Bank A determines that the credit risk on the
loan has increased significantly since initial recognition. As a result of this increase, Bank A
recognises lifetime expected credit losses on the loan. The loss allowance balance is CU30.

At the end of the third reporting period (Period 3), following significant financial
difficulty of the borrower, Bank A modifies the contractual cash flows on the loan. It
extends the contractual term of the loan by one year so that the remaining term at the
date of the modification is three years. The modification does not result in the
derecognition of the loan by Bank A.

As aresult of that modification, Bank A recalculates the gross carrying amount of the
financial asset as the present value of the modified contractual cash flows discounted at
the loan’s original effective interest rate of 5%. The difference between this recalculated
gross carrying amount and the gross carrying amount before the modification is
recognised as a modification gain or loss. Bank A recognises the modification loss
(calculated as CU300) against the gross carrying amount of the loan, reducing it to
CU700, and a modification loss of CU300 in profit or loss.

Bank A also remeasures the loss allowance, taking into account the modified contractual
cash flows and evaluates whether the loss allowance for the loan should continue to be
measured at an amount equal to lifetime expected credit losses. Bank A compares the
current credit risk (taking into consideration the modified cash flows) to the credit risk
(on the original unmodified cash flows) at initial recognition. Bank A determines that the
loan is not credit-impaired at the reporting date but that credit risk has still significantly
increased compared to the credit risk at initial recognition and continues to measure the
loss allowance at an amount equal to lifetime expected credit losses. The loss allowance
balance for lifetime expected credit losses is CU100 at the reporting date.

Period Beginning Impairment Modification Interest Cash Ending Loss Ending
gross (loss)/gain  (Loss)/gain  revenue flows gross allowance amortised

carrying B D E carrying G cost

gross: = =
A A x 5% F+|§-+EC H=F-G
1 CU1,000 (CU20) CU50 CU50 CuU1,000 Cu20 Cu980
2 CU1,000 (CU10) CU50 CU50 CuU1,000 CU30 CU970
3 CU1,000 (CU70) (CU300) CU50 CU50 CuU700 CU100 CU600

At each subsequent reporting date, Bank A evaluates whether there is a significant
increase in credit risk by comparing the loan’s credit risk at initial recognition (based on
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the original, unmodified cash flows) with the credit risk at the reporting date (based on
the modified cash flows).

Two reporting periods after the loan modification (Period 5), the borrower has
outperformed its business plan significantly compared to the expectations at the
modification date. In addition, the outlook for the business is more positive than previously
envisaged. An assessment of all reasonable and supportable information that is available
without undue cost or effort indicates that the overall credit risk on the loan has decreased
and that the risk of a default occurring over the expected life of the loan has decreased, so
Bank A adjusts the borrower’s internal credit rating at the end of the reporting period.

Given the positive overall development, Bank A re-assesses the situation and concludes
that the credit risk of the loan has decreased and there is no longer a significant increase
in credit risk since initial recognition. As a result, Bank A once again measures the loss
allowance at an amount equal to 12-month expected credit losses.

Analysis: As the modification did not result in derecognition of the financial asset, Bank
A should continue to assess increases in credit risk by comparing credit risk at the
reporting date with credit risk at initial recognition. As the model is symmetrical, the
bank should consider both positive and negative developments in credit risk.
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